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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PYI T F A B Gl F 59 FoTGH H PR g 8 Fo 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.
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F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYIT 797 1 TG 37 & [@ B Grad F T & J9797 g T &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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(iii) TH G97 BT BT 81 OB T F 7F IqH THT [’T 7T &
(iv) 597 &1 5 # 3<% g FTa= &
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General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.

| -
PART - A
(ST el O WEE @)

(Not for Profit Organizations & Partnership Accounts)

1. 1-4-2018 & TF BH & TEREN 75,000 Fo & {EH 5,000 To UHs & iy &
RN & Yol @A & AT 60,000 Fo © X I Red &1 Tod fpar W 21 o &
A X 10% o1 4 &l @i fed 4 ast & g @ & TR W 24,000 Fo Tedithd
P T FH H ARG A T B P 2
On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

2. ‘I T 9 ‘o O @t § oY qau 2
Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

3. WEH &9 I a¥ 2011-12 # 80,000 Fo TR % W byl o7 AW =t v ¥
(i) 1-4-2011 & FHEAT =T 5,200 ol
(i) 1-4-2011 & FAPH 9 F=1 2,400 Fol
(iii) 31-3-2012 H FHEAT =T 4,800 ol
(iv) 31-3-2012 i F I =T 700 ol
MGG @A H =< &l fhasl TR s B S ? 2
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Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as
subscription ?

4. G g GO @4 9 AT 9 =9 Td H B3 g7 i A 2

Give any four points of distinction between Receipts and Payment Account

and Income and Expenditure Account.

5. ‘7 g ‘T GERR o & 3: 17 dieq & e Rafy o 31-3-18 &1 7 w1

RG] %o REHIRT %o
ATER 4,15,000 | ¥ § 3 2,65,000
Red o 40,000 | W ot 30,000
TSl @t - IR 1,60,000
37’ 3,00,000 | €% 2,00,000
q 1,60,000 | g 10,000
9 o waw 2,50,000
9,15,000 9,15,000

1 3B, 2018 1 ‘G’ P 1/4 AN & T dr@erd § 7 ot 9X e f&ar m

(@) ‘@ F% 1,00,000 T&it T T 50,000 @Afq & & F M b, ed & @i @
1/2 9N 97 9§’ g0 Wbt fovam o ®

(b) ith q HRLER B 10% & FH a1 TN G 5% TadM g R0 & [T SR 9 >
foel O S T

() M & 20% & 5 T &I

(d) % 10,000 & TF TRE & Sk &fd & AW & ¢ &= =@

(€) T 6,500 @ TH AT Wb A& H O 21 g8 & A el @R SHe @i
ERIRCI

AT G IR 9 Refd feaver SR 6
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'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
‘B’ 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.
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T

OR
HERR & AIHY T B W FNREl @ el B e # B S ® 7
IS Hal Bl Herdl § QT Gl SRy 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.
1 -9
PART - B
(® E1q e femitg et @ fagey)
(Company Accounts & Analysis of Financial Statements)
6. ‘T Gl g Yol o’ F H/ Sfax B ° 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

7. A9 B BT FE P ST TRt B R} et H T SiftEw w e @ (@) SifteEw
o el foRdr T, (i) SR o fear @m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

8. 7 ffo ¥ ®M fHo & wwf@l ¥ 25,00,000 X T T 6,00,000 & fdC H7
gfred & &9 F 10,000 THAT $feT ¥ 100 WA ST 10% Siftem w et R ok
% 11,00,000 ¥& FFE & BN AW [T T SHa Hafedr HX 2
King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen
Ltd. King Ltd. paid the purchase consideration by issuing 10,000 Equity
Shares of ¥ 100 each at a premium of 10% and I 11,00,000 by Bank Draft.

Pass journal entries.
9. Tl F g ‘HESih HHAI F o SR B 7 2
What is the difference between 'Private Company' and 'Public Company' ?
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11.

12.
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'A' o I 3 'B' [ifo ¥ & T 5,40,000 H TR H1 BT fHam 'A' fifo I 10% Foma
¥ 100 Ui ROT9s & e 20% SiftEw W@ fean sHa wfeiedr & 2

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued

10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

'B' [fo 3 635, 9% U9 T 500 9 Roqe @ R fhu o sfaftedt &% afy o
F A 5% BE W, SR M 10% Hfed X [ 2 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal
entries if debentures were issued at 5% discount, redeemable at 10%

premium.

(@) 'Y foto ¥ 300 Sfer T 10 Wiy ofer MW M, T 7 Uy A H &, Teol ATM L 2 B
TAE T 8W W & fomm &8 & 100 ofeft & ¢F: fow ¥ 6 o g o
&Y fear mm
g Frifa sl @ Sf=it & forg S sifafteat & 2
(b) 'Z' [Wo T 600 L T 10 HiT HA T &, Tl el X 3 Wil AL BN PRI 7 BT
UM % HROT 6, qEl el % 2 uf oisr el e AME R e 39 & 200 3
% 8 9 ois e &l % 7 9 ofsr H g Frifte & Rar
g: Frifa oielf @ ot & fore oiar sifaftedt @ 2

(a) 'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment
of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately

re-issued at T 6 per share.
Pass the necessary journal entries for forfeiture and reissue of Shares.

(b) Z Ltd. forfeited 600 shares of ¥ 10 on which Ist call of ¥ 3 per share was
not received, the IInd call of ¥ 2 per share has not yet been called. Out of

these, 200 shares were reissued as X 8 paid up for I 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.
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qMT -9
PART - C
(Fgelga Jai)

(Computerized Accounting)

6. [FRSIHS TGSl 1 & ? 2

What is Referential Integrity ?

7. GUI T U% dierd A o 2

Write a short note on GUI (Graphical User Interface).

8. MS-Access & 3 3aaqg g 2

Give two components of MS-Access.

9. e H g [AvaW FaEy p)

Give two features of Electronic Spreadsheet.

10. FYTUFA qQ@iHT § A FT T & 7 2

What do you mean by Computerized Accounting ?

11. FEFA EieT & & e sy 2

Write two features of Computerized Accounting System.

12. 8 791 ® ? 00 9 & R it gasu 4

What is Query ? Describe the various methods of creating Query.
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